Updates on 2019.9.20

Performance test of Seismometer-sensor correction

- Comparison of the following configurations:
- [ ] IPdcdamp
- [X] IPdcdamp + IPsc

- [X] IPdcdamp + IPsc + Bfdamp

- [X] IPdcdamp + IPsc + BFdamp + BFsc

- This test is done on September 19th, 2019 and .

Ref: https://github.com/YoshinoriFujii/Weekly-task/issues/23



https://github.com/YoshinoriFujii/Weekly-task/issues/23

Test configuration:

- X-arm cavity is locked with IR.
- Used channel for X-arm is K1:CAL-CS_PROC_XARM_FILT_AOM_OUT16.
- Used guardian state is ALIGNED.

e X-arm




Comparison with X-arm



Comparison with X-arm: with IPdcdamp + IPsc + BFdamp + BFsc
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Comparison with X-arm: with IPdcdamp + IPsc + BFdamp
IPdcdarpp + IPsc + BFdamp
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Comparison with X-arm: with IPdcdamp + IPscC
Ichdamp + IPsc
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Comparison with X-arm: Summary (on 2019.9.20)
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Comparison with local sensors



Comparison with local seismometer:
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Comparison with local seismometer:
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Comparison with local seismometer: IPdcdamp + IPsc
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Comparison with local seismometer: IPdcdamp + IPsc + BFdamp + BFsc
EX: IPdcdamp + IPsc + BFdamp + BFsc

IX: IPdcdamp + IPsc + BFdamp + BFsc

10"

=
o
=]

._.
on
o

Displacement [um/rtHz]
Displacement [um/rtHz]

‘| — EX: seis

H[ — IX: seis | i

| — IX:IPace) 00 T

— Xarmvs. IX: seis |
| — X-armvs. IX: IP(acc)

10l D A ’ —
g S g P ‘— X-arm vs. EX: seis
081 /N N 0.8L

| | — X-arm vs. EX: IP(geo)

o
o
o
o

Coherence
o
=
Coherence
o
IS

| g ‘w'-.}‘ LR
10 10 10° 10° 10

Frequency [Hz] Frequency [Hz] 12

0.2L N

R

R AL l.]l..nli.....l_..l. I_....., e cobecediobio i
10°

0.0 A AL
10 10




Comparison with local seismometer: IPdcdamp + IPsc + BFdamp
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Comparison with local seismometer:
IX: IPdcdamp + IPsc
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